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This paper consists of fifty multiple-choice type of questions.
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(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
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in the booklet with the information printed on the
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missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
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You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
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HOME SCIENCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Asper ICMR (2010) the RDA of Iron for a 16 year old girl is :
(1) 27 mg/day (2) 28 mg/day
(3) 32 mg/day (4) 26 mg/day

2.  Following is a method of cooking by dry heat :
(1) Steaming (2) Broiling
(3) Stewing (4) Blanching

3. A set menu in which a number of dishes are planned and food is offered at a set price is

called :
(1) A la carte menu (2) Occasional menu
(3) Single use menu (4) Table d’hote menu

4.  Which of the following is an Italian designer ?
(1) Giorgio Armani (2) Yves Saint Laurent
(3) Dior (4) Tommy Hillfiger

5. Give the full form of CSWRI :
(1) Central Sheep and Wool Research Institute
(2) Central Sheep and Worsted Research Institute
(3) Cotton Silk and Wool Research Institute
(4) Cotton Synthetic and Wool Research Institute

6. Indicate which among the following is an electronic gadget ?
(1) Water heater (2) Coffee maker
(3) Pressure cooker (4) Microwave oven

7.  Vygotsky’s theory of Human Development is also called
(1)  Sociocultural theory (2) Psychosexual theory
(3) Psychosocial theory (4) Socioemotional theory

8.  The National Adult Education Programme (NAEP) was launched to promote literary
among people in the age groups of :

(1) 25to 35 years (2) 35to 50 years
(3) 15to 35 years (4) 40 to 65 years
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1. SEITAAR, (2010) % AR 16 THF ASH! % [o1T Al I TR Hieesh AE € -

() 27 \w/f=T (2) 28 mu/MEA

(3) 32 fwmf= 4) 26 W/t
2. THAfeREd Ik SO 9 9IS qeh i oty F

(1) w2 () smEfe

3) w=fm (4) A=

3. U fvad 9 oY 9gd | @S Bt ASHT 6 ST § SR Ueh 9F Jod WX IS i U9TehST
STt & 39 F=fataa 3 9 ST el ST g 2

(1) Uo7 (2) THI-IET W B

(3) T g ug (4) ez ag
4, Ta=teAiEd 9§ 9 % eforad fesew g 2

(1) TSTeRRS=r e (2) TEITEARA

(3) feax (4) 2 featm e

5. Hi U9 S5 AR 3¢ I Y07 ¥ T
(1) U= MY R I RF sfeme (2) 9o 90 3R odifes Rad sieege
(3) A faeh 3R g REd feee (4) e foifes ok 9ot Red sieege

6. TTafcafad 9§ ¥ i Uk Solai-eh SUh0T & STy

(1) @RTER (2) HH HHT
(3) R FH (4) R e
7. S foeRE & areieahl (s o efetad 3 @ SR T Hel S e 2
(1) TSR ARehiae g1 (2) A fEgE
(3) TAREMEISTS Mg (4) QIS TETcHE g

8. U Wie-f¥eT HEHH (NAEP) o 3T T8 H QIETAT i F@1aT 3+ & [o1T I Tohal 7= o 2
(1) 2593599 (2) 3550 a9
(3) 1593599 (4) 40 ¥ 65 T
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9.  Marionettes are the following type of puppets :

(1) Shadow (2) Rod
(3) String (4) Glove
10. In normally distributed population Mean + 2.58 S.D. will cover of population.
(1) 99% (2) 98%
(3) 95% 4) 90%

11. Zinc deficiency is manifested with following symptoms :

L Depressed Immunity II.  Vascular Complications
III. Diarrhoea IV. Anaemia

V. Reproductive failure

Codes :

(1) LI, III 2 LILIV

3 ILIV,V 4 LILV

12. Browning in cut fruits and vegetables can be prevented by :

L Immersing them in water II.  Increasing the pH

III. Blanching IV. Sprinkling sugar over the cut surface
Codes :

(1) LILII (2) ILILIV

3) LUOLIV “ LILIV

13. Which of the following are types of buffet service ?

L. Trayed II.  Plated
III.  Finger IV. Fork
Codes :

() TandII (2) Hand IV
(3) IIandI1V (4) IIandIII

14. Rhythm is a design can be attained by

L Gradation II.  Radiation

III. Contrast IV. Continuous line
Codes :

(1) IL 01V 2) ILILI

3 LILIV 4 IV, 11

15. High twist imparts following properties to yarns :

L Resistance to abrasion II.  Subdued lustre
III.  Soft texture IV. Bulkier

Codes :

(I) TandII (2) IIand III

(3) IIandI1V (4) TIandII

Paper-I1 4 J-12-16



9. AR qet, Fefeiad ¥ 9 59 YR 1 Iqel i € 2
(1) =/ qaa (2) B YA
(3) Emm g (4) T g
10. WG ToaRa SO 7T £ 2.58 W e SHEET o HEtarad § d feae idaed
I S 2
() 99% 2) 98%
3) 9% @ 90%
11. 57 ot % % TR o =7 ereqor snfirer €
I 0 Ui &t | st . TSl s SHE
. sERE V. >
V.  3cR ST fawe g
%
(1) LILI 2 LILIV
(3) ILIV,V (4) LILV
12. ffefad adert | e gT &t o AisTal i 9T e J ST ST Gehel §
I O gEeT . U Sgel
1. AT IV. e §E qag W IHT gReh hl
TN
(1) LILI ) 1ILIIL IV
(3) LIILIV 4) LILIV
13. Fffad & 9 9% a1 % YR ®F F § 2
I TH WA I W H o
. Fend IV. HeH
B
(1) 13RI (2) ATV
(3) I3RIV (4) 13RI
14. feoia 4 o7 v foman ST Sehel §
I U . feuwem
. R IV. Heg3Td oed
kT
(1) 1L IV (2) ULILI
(3) LILIV 4) 1V, 1L1
15. ST ST 9T | fEtarad oeeand we oid €
I T % ufd Rt I & g 99
L. el ToT V. 3T o=
%
(1) 13RI (2) MR
(3) I3RIV (4) 13RI
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16.

17.

18.

19.

20.

How will you achieve emphasis in interior arrangements ?

L Through repetition of objects II. By grouping of objects

III. Use of contrasting colours IV. Use of plain background space
Codes :

(1) I, 1T and III (2) IIL IO and IV

(3) L IIand IV (4) L ITand IV

Rights of research participants include :

L Informed consent II.  Privacy

III.  Protection from harm IV. Remuneration
Codes :

(1) L ITandIII (2) LIIand 1V
(3) I, IIand IV (4) LIIIand IV

Non-formal education involves :

L. Flexibility of time tables II.  Rigidity of rules and regulations
III. Life-long learning IV. Life skill development

Codes :

(1) I, ITand I (2) I, I and IV

3) LHIandIV (4) L IIand IV

The principles of communication are

L The Communication process is Interactional

II. The Communication process is Reversible

III. The Communication process is Functional

IV. The Communication process can be transactional
Codes :

(1) I, 1T and III (2) IIL IO and IV
(3) L IIand IV (4) L ITand IV

In a negatively skewed distribution mean is :

L greater than median II.  smaller than median
III.  greater than mode IV. smaller than mode
Codes :

(I) ITand IV (2) TandIII

3) TandIV (4) IIandIII

Paper-I1 6
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16. 3TN HAEAT H UEREH (JcT) i Hd U BT ?
I Sge & ge . S&]3l ® ggfed FX
. RS TM o THAFA FX V. 99det gy & STt 9
%
(1) L IR (2) I 13RIV
(3) L3RIV 4) LIATIV
17.  STTHEM Ui & Rl | f=farEd 3 S 997 IHeA ¢ 2
I Teuld & ger & I U&
. THaH o T V. O
kT
(1) L IR 2) LIRIV
(3) 1L I 3RV (4) L3RIV
18. TR fren # wnfHer €
I HEI-HIRON o T . e o fafemt = eregar
M. Se 9a= At IV. e HiveT [
%
(1) L IR (2) I 13RIV
(3) L3RIV 4) LI ATIV
19. T % fHgid &
I HEYOT S UishaT STaishareHeh gidl & |
I EEISOT i ufshan oot eidl ¢ |
Il HOYOT i YfshaT SEicHes el & |
IV. H90T sl fshan faf e g € |
kT
(1) L IR (2) I 13RIV
(3) L3RIV 4) LIATIV
20. THfeIfEa 7 9 T TehRIcAeh faud forawor § /e ¢
A 1175 C ki 1. s 9 8
. S § §g V. g § B
%
(1) ATV (2) IRl
(3) 13RIV (4) 13RI
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21. Assertion (A) : Egg white forms a stiff foam as compared to whole egg.
Reason (R) : Lipoproteins in egg yolk hinder foam formation.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are incorrect.
(3) (A) is correct and (R) is incorrect.
(4) (A) is incorrect and (R) is correct.

22. Assertion (A) : Milk should be avoided in the diet of a child suffering from diarrhoea.
Reason (R) : Milk is a high fibre food.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are incorrect.
(3) (A) is correct and (R) is incorrect.
(4) (A) is incorrect and (R) is correct.

23. Assertion (A) : Standardized recipe is an important control tool in food production.

Reason (R) : Use of standardized recipes helps to ensure that preestablished standards for
quality are consistently achieved in food service operation.

Codes :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3) (A) is correct, but (R) is incorrect. (4) (A) is incorrect, but (R) is correct.

24. Assertion (A) : Shiny textures like satin make the person appear larger.
Reason (R) : Shiny textures absorb light.

Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

25. Assertion (A) : Glass transition temperature plays an important role in producing textured
yarns.
Reason (R) : The glass transition temperature is the point where crystalline regions of the
fibre develop flow or melt.

Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

26. Assertion (A) : The Greek method of space division is called ‘Golden Oblong’.
Reason (R) : It suggests 2:3 for solids and 5:7:11 for flat forms.
Codes :
(1) (A) is correct, but (R) is incorrect. (2) Both (A) and (R) are correct.
(3) (A) is incorrect, but (R) is correct. (4) Both (A) and (R) are incorrect.

Paper-I1 8 J-12-16



21.

22.

23.

24.

25.

26.

ATUHAT (A) : T 3T I STULT 37T I THha! 3TYH g BT ST & |
FRUT(R) @ 3702 I ST&T H ALY, 3t IURATT ®IF S | Fehiae Srerd & |
&

(1) (A) IR (R) I TIE | (2) (A) IR (R) I TATE |

(3) (A TEIE, 3R (R) TT & | (4) (A)TATE, 3 (R) W& |

ATHUT (A) : ATAR  difed Uk a=af o MER | Y FHTeAd Fal T AMey |
FHROT(R)  : TU H = Bl A 31k et & |

%

(1) (A) AT(R)IAT T E | (2) (A)IATR) I TATE |
(3) (A)WEE, 3R (R) T & | (4) (A) AT E, 3R (R) W& |

ATUHYT (A) : TTRT SR H AHDIhd Ureh faIfer Teh FeaquT =7 aream & |

FRUT(R)  : AFHIGT UI fofedi &1 UG 48 GHvad o | 755 T § o6 ora & fow
TSN A W W Rerer § gHe Ush ©9 § U fh ST € |

[ T
(1) (A) IR (R) I TEIE | (2) (A) IR (R) I TATE |
(3) (A) T, AfhT (R) T ¢ | (4) (A) T €, AT (R) W1 € |

ATHHAT (A) : TIET Sl TE THD Tl HUS AT i I8 IMATE |
HRUT(R)  : THFSR S99 UTHT I el € |

%

(1) (A) T, AfhT (R) Terd ¢ | (2) (A) T €, WAl (R) W1 € |
(3) THI(A) IAR(R) T | (4) THI(A) 3R (R) TeAd & |

ANTHAT (A) : TG TR AT Sl €7 3 AT § G5 e TR T ¢ |
FROT(R) 719 TS A9 9 o5 & ST o= & [ohaeetie ST fueetd & a1 98- oI & |
[ T

(1) (A) T, AfhT (R) Terd ¢ | (2) (A) T &, wAfhT (R) W E |

(3) THI(A) IAR(R) T | (4) THI(A) 3R (R) ToAd & |

ATUHAT (A) : STTE i TSI B o (Hh aRieh) Sl “Tioed AT Fed € |
FHRUT(R)  :Tg 2:3 F U 2T & folT qA1 5:7:11 1 ST FHIA HA & foTT Foped

FATE |
%
(1) (A) T, R (R) T & | (2) (A) AT (R)IAT T |
(3) (A) Tod &, W] (R) TeT & | (4)  (A) 3T (R) I Tora & |
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27.

28.

29.

30.

31.

Assertion (A) : The Child Labour (Prohibition and Regulation) Act was inadequate in
addressing the problem of child labour in India.

Reason (R) : The law makes a fallacious distinction between ‘hazardous’ and ‘non-
hazardous’ sectors thereby negating the importance of education for all children.

Codes :
(1) Both (A) and (R) are true. (2) Both (A) and (R) are false.
(3) (A) is true, but (R) is false. 4) (A) is false, but (R) is true.

Assertion (A) : Participatory learning has become the need of the hour because
knowledge is growing very fast and becoming redundant faster.

Reason (R) : Division of labour is a valuable innovative approach as an individual cannot
explore the many sources that contain knowledge all by himself/herself.

Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

Assertion (A) : Lack of clarity, coherence and precision in a message can be taken care
of, if the receiver is literate.

Reason (R) : A literate receiver will understand the use of jargons in the message easily.
Codes :

(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.

(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

Assertion (A) : The t-test on dependent samples can have greater power compared to t-
test on independent samples.

Reason (R) : In general, the higher the correlation induced by pairing, the stronger will be
the effect on power.

Codes :
(1) (A) is incorrect and (R) is correct. (2) (A) is correct and (R) is incorrect.
(3) Both (A) and (R) are incorrect. (4) Both (A) and (R) are correct.

Arrange in correct sequence of the steps in processing of black tea :

L Fermentation II.  Drying or firing
III. Rolling IV. Withering

V. Grading VI. Packing

Codes :

(1) LIV,ILIL YV, VI 2) IV, ILLIL YV, VI
3) IV,LILIL YV, VI 4 1L LIV, 1L VLV

Paper-I1 10 J-12-16



27.

28.

29.

30.

31.

AT (A) : 9RA T 16T 99 B qHET F e & o ot 5w (Foy we fatreee) sttt
AT T |

FHROT(R)  : T8 HF SEH 3R RS a1et &5 & e JTHe 9% ST el & QAT Tt
Tl & foTu {318t & Hewd ThRAT ¢ |

[ T
(1) (A IR ITNHE | (2) (A)IRR)IATATE |
(3) (A) W&, AfhT (R) T ¢ | (4) (A) 7T €, AT (R) W1 € |

AU (A) : FEWITT T GHT Y SME9Fhdl & 797 € Hifch T Sgd oot § 9 @1 &
AT AL A @R |

FROT(R) o9 oo U Igqed AaaSl SUNTH & Fich Ueh AT A o 3T Sicl b
3Tehel SFOTUT &l Y FehT |

&

(1) (A FEEHgR) AT | (2) (A) T g e (R) TEl & |

(3) (A) I (R) I WIE | (4) (A) 3R (R) T Torq € |

ATUHYT (A) : AT TS TR & o g § Teed, GET 3R GSIhdT Sl HH T &= T@T ST
HHAT T |

HRUT(R)  : T AR URT ToE T IESTeA o FNT ol Tlerdl § T |
&<

(1) (AT T HgR) AT | (2) (A) T g b (R) TEl & |
(3) (A) I (R) I WIE | (4) (A) 3R (R) T Torq € |

ANUHAT (A) : T USRI T M -2 T Wqa@l W -8 Bl T H 31T &7oem
T@a e |

FROT(R)  : IEHA:, I & §RT SNWRT Seaat Geda, 8T U AT W et |

&<

(=N

(1) (A) Tod & 3R (R) Tl & | (2) (A)TEIE 3R (R) T & |
(3)  (A) 3T (R) 3T TAT & | (4) (A) 3R (R) I T & |
A T o SR H 3T STl TR0 bl Het hH H oY

I WA L ST a1 SET

[ Jfem Iv. feasR

V. wfem V1. O

%

(1) LIV,ILIIL V, VI ) IV,ILLILV, VI

(3) IV,LILIIL V, VI 4) ILLIV,IIL VL,V
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32. Arrange in correct sequence the steps in planning Nutrition Programmes in the

Community :

L. Setting goals and objects II.  Selecting interventions

III. Community needs assessment IV. Problem identification

V.  Programme Evaluation VI. Programme Implementation
Codes :

(1) IV, ILLIL VL,V (2) HULIV,ILL VL,V

3) LOLIV,IL VL,V 4 IV,LILIIL VL,V

33. Arrange the steps of hiring staff in a food service establishment in the correct sequence :
L Advertising II.  Conducting interviews
III.  Preparation of job requirements IV. Medical examination
V.  Screening applications

Codes :
(h) LV, ILILIV 2 LILV,IV,1I
3 HILV,LIV,1I @ I1ILLV,ILIV

34. Give the correct sequence of draping skirt on the dress form :
L. Pinning centre front and centre back on the dressform.
II.  Aligning the vertical grain and draping the side seam.
III.  Pinning the hipline.
IV. Blocking and marking of muslin.
V.  Marking the waistline.
VI. Draping the front and back darts.

Codes :
(hH) IV,LIILIL VLV 2 IV,ILIOLLYV,VI
3) ILLOLIV,V,VI @ ILILIV,LV,VI

35. Give the correct sequence of cotton spinning systems :

L Carding II.  Opening, cleaning and blending
III. Drawing out IV. Spinning

V. Roving

Codes :

(1) IL LIV, IV 2) LILULIV,V

3) HOLIV,V,I,I 4 IV, V,ILILI

36. Arrange the steps in decision making in proper sequence :
L Finding alternatives. II.  Accepting consequences.
III.  Thinking through alternatives. IV. Identifying the problem.
V. Selecting an alternative.

Codes :
(H) IV,LV,ILII 2) IV,LILILIV
3 IV,LII V,1I @ IV,ILV, LI

Paper-I1 12 J-12-16



32. HUEH H U0 G HrEhH i ASHT H 3 aTel TRUN Sl Gt 59 H oI

I & 3R 3evd FeRa s I E&egor ot s ==
[II. THETT & STATIhares &l 3T IV, TSl 6l Uga 6l

V. HEHH FH Godichd Sl VI. ST I HEfEd AT
B

() IV,ILLIL VLV 2 HOLIV,ILL VLV

3) LIIOLIV,I, VLV @ IV,LILIL VL,V

33. TS G 9o YA W SHHEE! ol & & = eHl ol Tel 7 H o

I fosmoE II. WRICHR] T AT BT
[I. S SEvgehdrstl i aart V. Tafhcaa =

V. 3TeEAl &l S

B

(1) L V,ILIL IV ) LILV,IV,II

(3) ILV,LIV,II (4) L1 V,ILIV

34, I HH W She B ATHM I Fel A ST
[ SH % W I e 3R =T 9 &l {07 & |
[I. =RiCHA IF i b STTE AT 3R AIES Fiem T TeshT |
III. e i &I i 0 HT |
IV. Ao & cAteh 3T d R o |
V. R @ W 9 e
VL. 9 3R 99 o S1eF Hl ASHMAT |

T
(hH) IV,LIILIL VLV 2 IV,ILIOLLYV,VI
(3) IL L IIL IV, V, VI 4) TILILIV, LV, VI
35. gd I DI UHIT H el 57 T
I. RfeT II. SioHT, 9% e AR e e
. S IV.
V. fem
B
(H) ILLOLV, IV 2 LILOLIV,V
3) HOLIV,V,ILI @ IV, V,ILILI

36. TR &7 ot Ufshan o TR0 I GEl A § oIIST
I. foredl sl @IS e [I. ST s T80T T
1. foekedt & IR 9 Gre-fomem e IV. 9991 & B

V. Toohed =1 937 &

(H) IV,LV,ILII 2) IV,LILILIV
3 IV,LII V,1I @ IV,ILV, LI
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37.

38.

39.

40.

Arrange in order of sequence of language development in infancy :
L Cooing

II.  Telegraphic speech

III.  Holophrastic speech

IV. Babbling

Codes :
() IV, LIL I 2) LIV, I
3 LIV, ILII @ IV, LI I

Arrange the following ‘Canons’ of public speaking as given by Aristotle in the sequential
order of preparation to delivery :

L Arrangement II.  Delivery

III.  Style IV. Memory

V. Invention

Codes :

(1) V,LIOLIV,II 2) IV, ILLILV
3 HOLIV,V,LII 4) ILILIV,V,I

Arrange the following stages of the process of adopting a new idea or technology as
proposed by Evrett Rogers.

L. Knowledge II.  Decision
III. Confirmation IV. Implementation

V. Persuasion

Codes :
(H) LILOLIV,V 2 LIOLILIV,V
3 LIV,V, 1,1 @ LV, ILIV, I

Arrange in correct sequence the steps for the construction of frequency polygon :
L Decide on a suitable scale for the horizontal and vertical axis.
II.  Construct a frequency distribution in table form.

III. Place a dot above the midpoint of each class interval at a height equal to the
frequency of the scores in that interval.

IV. Label the class interval midpoints along the horizontal axis.

V.  Connect the dots with straight lines.

Codes :
(H) ILLOLIV,V 2 LILIV,IL,V
3 LIV,ILILV @ ILLIV,IL,V

Paper-I1 14 J-12-16



37.

38.

39.

40.

AT | AT Fohr o SH ol GeTaerd &1 :

I e

II. fennferes o=

III. kgl e

IV. Safert

B

(1) IV, LIL I (2) LIV, LI
(3) LIV, LI (4) 1V, LI 10

3K & GRT T T SH-GATE & EATeRad GaT T 9607 i FIRT & 3hH & STER Faed
FHIIT

. weEy I 9T &A1
. Srett V. wgfd

V. @t

%

(1) V,LILIV,1I ) IV,ILLILV
(3) MLIV,V,L1I 4) ILULIV,V,I

TeRe TS §RT TEifad U fore a1 dehsiies sl 39 oh! UishaT o UM hl Tel 3hH | oIa

I 3 II. T
[I. gt AT V. e

V. URd &

%

() LILILIV,V () LILILIV,V
(3) LIV,V,ILII (4) L V,ILIV,III

TR ST o HT0T o foTT HIAT T Tt 567 | oI

I &St 3R oY 371 & fole Ueh Sugert AIUsS W FHof & |

[I. 9RO E9 H Uh JRERAT fTeRoT 6 9707 T |

[I. U S W At H WhRI i TRERAT & GHA T Uit 3iciiet & g7 fog ¥ 30X Uk

T o |

IV. &fdsT o717 & a1 S Siaet Te awge 1 T9 e |
V. o5l & gt W@ 9 S |

(H) ILLOLIV,V 2 LILIV,IL,V
3 LIV,ILILV @ ILLIV,IL,V
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41. Match the nutrients in List — I with their functions in List — II.

Decarboxylation of amino acids

Oxidation-Reduction reactions

42. Match the natural toxins given in List — I with the foods they are present in given in List — II.

List -1 List — IT
L Thiamine A.
II. Riboflavin B.  Precursor of tryptophan
III. Niacin C. DNA synthesis
IV. Pyridoxine D. Collagen formation
V. Cynocobalamin E. Carbohydrate metabolism
F.

Codes :

I o0 o v v
(L) E F B A C
2 E D A F C
3 F C E A D
49 E B F D C

List -1 List — IT
I.  Avidin A.  Cotton seed
II.  Aflatoxin B. Soyabean
III.  Erucic Acid C. Raw egg white
IV. Gossypol D. Mustard oil
V. Hemagglutinins E. Peanuts
VI. Oxalic acid F.  Mushrooms
G. Spinach

Codes :

I O ur 1v. v VI
() € B D A E F
2 C€C E D A B G
3 F A E B D G
49 C€C B E F A G

43. Match the pricing methods in List — I with their explanation in List —II :
List - I
L Imitative pricing A.
investment.

II.  Discount pricing B.
III. Cost plus pricing C.

IV. Rate of return pricing D.

Codes :
1
(1) B
2 A
3 B
4 A

Paper-I1

ONoRvAwR=

III

ooa»

w»wa <z

Based on relationship of net profit to capital

Prices are set by following those of most successful

establishment in same class of food services.

Practice of charging the customer less than the

declared rates on product menus.

Food cost per unit of sales is calculated and a given

percentage is added to food cost.

16

J-12-16



41. gt -1 ¥ U U diftess ol o get — 11 § ST T 37 St & d1e GAferd iy
T -1
AT
TEERATT
BIRIIEES
EREIER )

L
IL.
III.
IV.
V.

&he

(=N

(1)
()
(3)
4

HI'%"IIGI’)I@IIQ’i\HH'\I"I

eslissleslesiy

ool @Rwhs sl

III
B
A
E
F

mmonNw >

o2

= - 10
3T TRASH T SihEaRiIeTeT
U2 T TeRE
TAT, T FIEATT
TS T
FIETETESE H T

SIS USRTT Wishar

Aoan<

42, T - ¥ U T W vt et w gE - 11§ KT e wreverEt § fren i & o e

g

L
IL.
III.
IV.
V.
VL

&

(=N

(1)
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T -1 = - 10
ufafeT A, FeAdE
ST TR B. OmEmEH
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ferreR I E. Tl
Mot U F.  A9TeH
G. UeH
I II I IV V VI
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C E D A B G
F A E B D G
C B E F A G
43. g — 1 T S TE Hod UFIaAT (I Ho7E) i el — 11 § 3! AT & 91 gHTeTd HifTu
T - 1 =t - 11
gefea i A, THA AN F USi O & G W SR |
fewpree wrehim B. @TI UaT i GHE SUT § Gatys el U &
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44. Match the items given in List — I with the items given in List — II.
List -1 List - II

L Salt A.  Wetting agent
II.  Sodium Carbonate = B.  Stiffening agent
III. Borax C.  Exhausting agent
IV. Lissapol D. Levelling agent
E.  Shine

Codes :

I 1 o Iv
(1) € D B A
2 A E C D
3 D C E A
4 B A D C

45. Match the fabrics given in List — I with their weaves given in List — II.
List -1 List - II

L Dotted swiss A. Plain weave
II. Gauze B.  Surface figure
III. Hopsacking C. Dobby
IV. Hucka back D. Leno
E. Basket

Codes :

I I 1 1Iv
(), B A E C
2 A C B E
3 C€C B D A
4 D E A C

46. Match the items given in List — I with the Items given in List — II :
List -1 List - II

L Laurie Baker A.  Pencils
II.  Gulbreth B.  Household equipment
III. D.W. Ross C.  Therbligs
IV. Parker D. Housing
V. Kotler E. Human values
VI. Peet and Thye F.  Values in colours
G. Marketing
Codes :
I o1 oo v v VI
(1n B C€C F E G D
2 D C F A G E
3 D C€C F E G B
49 D G F A E B
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44. g -1 ¥ U MU o5 1 s gE - 11 H ST e 5e J 6]
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D. THAER! AEE
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47. Match List — I with List — I

List - I
I. CARA
II. RCI
III. NCPCR
IV. NHRC
V. UNICEF
Codes :

I II
() E F
2 F E
3 F C
4 F E

O O U U

o

<

O m a 0

mm o 0

List — II
Minorities
International
Agency
Human Rights
Child Rights
Disability
Adoption

> o wm <

48. Match the barriers in communication given under List — I with the appropriate causal

activity given under List — IL.

List - I
I.  Physical

II.  Physiological

III.  Psychological

IV. Semantic

Codes :

I II
(1 A C
2 B D
3 C E
4 D A

Paper-I1

III

w > > W

m o 0w »

Q9 o o

List — IT
Biases and Prejudices
Feedback
Screeching of cars
Dilectical differences in meaning

Hearing impairment
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49. Match the name of the persons given under List — I with the idea contributed by them

50.

given under List — II.
List - I

L Varghese Kurein

II.  Mohammad Yunus

III. Evrett Rogers

IV. Wilbur Shramm

Codes :

I m uar Iv
() B D A C
2 B D E A
3 E C B A
4 E D C B

List — II
Diffussion of Innovation
Milk Revolution
Media as magic multiplier
Micro Credit

Wood’s triangle

Match the items in List-I with List-I1.

List -1

L Leptokurtic distribution

I H,:p #85
III. Tukey’s HSD test

IV. Mann-Whitney test
V.  Sign test

VL. H,:p >70

Codes :

I m uar Iv
() D F A C
2 E F A B
3 E G A D
4 E D F A

Paper-I1

W a0 ®m <

List - II
A. Post Hoc test

B. Difference in location between 2
independent groups.

C. Difference
dependent groups.

D. Difference between more than 2 means.

E. Narrower peak and
concentration in tails.

two tailed test.

G. one tailed test.

QT Q@

22
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49. gt -1 ¥ U MU =ieat & e i et — [ H KU M0 39 foar & A S gated &

=t - 1 = - 10
[ SEHEE A, TG & TR
II. AW g™ B. TUHI
[I. TaEIS™E  C.  FHHING @i ¥ JgH alel SRE & &9 § Hifear
V. foosr 8w D. 9T H0T
E. gcd o

B

1 I II 1Iv
(D) B D A C
2) B D E A
3 E C B A
€)) E D C B

50. T — 1 9 St TE HET B G — [1 % i AT DI

T - 1 =t - 11
[ olemehies oo A TR T R
M Ty, # 85 B. 2 WA Wl % S ST H R
. qHTTTH S ReI0r C. 2 ST Tl o oie ST § e
IV. #-foet qdefor D. 2 HeAd § e % a3
V.  HTEH T E. e H o 3 arer uRfEi W ST
VL T > 70 F. 3 amer oRfeE o oo

G. T aT URfY o qretoT

£

I I I IV V VI
() D F A C B G
2 E F A B C G
3 E G A D C F
9 E D F A B G
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